HXE2S e MiERmFANLGERE—
T =2 £ EENMNERAEESRFEREIE(ERXELIE) ARL M M | <R 1% 3 (a) 0.8
T =3 5 T E{AERL RETER680F i B ffrsHE RS 1% 5 D) 0.2
A KL EE Bl A& (Fr k) 28,270,000 A | % &l (Fad) 30,531,600 A =IEA*LEE (xmin) 26,000,000 M
B AL =| ER31E1H28H EALE 92 % Bl m i mE s (ymax) 120
AT B0 A | e | AREAESEx () | RIS | o | BWEEAMxG) | A0 |
w2l 2 oz % i AL 15 mgy |
(x) B oz X=(xmin)=(x) X 100 X (a) (y) IR Y=(y)=(ymax) X 100 X (b) X+Y g Aoz
AL (BALEEs 26,000,000 1 80.00 90 3 15.00 95.00 1
- T FTIR 28,250,000 7 73.60 120 1 20.00 93.60 2
- #HI5E (R 27,900,000 5 74.48 90 3 15.00 89.48 6
- FHEREREE) 27,750,000 3 74.88 90 3 15.00 89.88 5
- EHEKITEGR) 26,700,000 2 77.84 80 7 13.32 91.16 3
- [ A E T (%) 27,800,000 4 74.80 85 6 14.16 88.96 7
- (R SHEHREER 28,150,000 6 73.84 100 2 16.66 90.50 4
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